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1.1

w=[1 1;1 1];b=[.5;1.5];V=[1 1]
x=[0 01 1;0 10 1]
Vxceil (tanh (Wxx-b*ones (1,size(x,2))))
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2.2

x=0:0.1:10;x(1)=eps;
plot(x,1./(2*pixx).*exp(-.5*%log(x)."2))
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x=exp(randn(1,10000));
hist(x,50)

y=sort(x);
hist(y(1:9800),50)
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[n xx]=hist(x,50);
m=sort(n(:)/sum(n(:)));
[v il=max(ceil(m));
m=m(i:length(m));
H=-sum(m.*log(m)) ;

2.5

plot(x(1,:),x(2,:),’.7)

2.6

cov(x’)

2.7 bin OBITEHIERIZ L.

hist3(x,50);
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[nn x1 x2]=hist3(x,50);
m=sort(nn(:)/sum(an(:)));
[v i]l=max(ceil(m));
m=m(i:length(m));
Hj=-sum(m.*log(m));

[n1 xx1]=hist(x(1,:),50);
m=sort(n1(:)/sum(ni(:)));
[v il=max(ceil(m));
m=m(i:length(m));
Hi=-sum(m.*log(m));

[n2 xx2]=hist(x(2,:),50);
m=sort (n2(:)/sum(n2(:)));
[v i]=max(ceil(m));
m=m(i:length(m));
H2=-sum(m.*log(m));

I=H1+H2-Hj
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x=tan (pi*(rand(1,10000)-.5));
y=sort(x);
hist (y(500:9500) ,50)
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mu=mean (x)
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err=1;

while err>1.e-10,
zZ=X-mu;
dl=sum(z./(1+z.72));
ddl=sum((1+2%z."2)./(14z2.72) ."2);
mu=mu+dl/ddl;
err=abs(dl);

end

mu




